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- g(Ph), 7F=&(Cd), ZF(Cr), 7=(Cw), BZHMn), (Fe), HZAND)

H2x(As), ¥EEBe), &FHlg(AD, Z+(Ca), nt1vwMg)



15 &
O 5% A4, Ad ¢ v =R}
- A4 o] : PM-10, Cr, Cu, Mn 5 1070 359 55 744 (25 ~ 78%)
Pb &&e] F= 571 (12%)

- Ad FLaml . PVHL0, Cr, Cu, Mn 5 107) @59 55 724 (14 ~ 70%)

Pb &=2 T 371 (13%)
ik B0 | Pb Cd Cr Cu | Mn Fe Ni As Be Al Ca Mg
7 Ach] =31 12 0 -61 =72 | 60 | 42 | -8 | 25 - -38 | -l -34
378
(H$1:%)
MAsLoE] | -29 13 0 -4 | -0 | 26 | 20 | 27 | B2 - -51 -50 | -4l

(9 pg/ ')

g5 RAVFIO0 Pb Cd Cr Cu Mn Fe Ni As Be Al Ca Mg
=<4 22 0.0185 | 0.0005 | 0.0024 | 0.0104 | 0.0192 | 0.3422 | 0.0016 | 0.0012 | 0.0000 | 0.0742 | 0.2364 | 0.0785
A4 32 0.0165 | 0.0005 | 0.0062 | 0.0367 | 0.0481 | 0.5907 | 0.0072 | 0.0016 | 0.0000 | 0.1201 | 0.3992 | 0.1190
s 31 | 00163 | 0.0005 | 0.0028 | 0.0345 | 0.0258 | 0.4281 | 0.0022 | 0.0025 | 0.0000 | 0.1511 | 0.4634 | 0.1322
%3174 715 PM-10 100ug/ni, Pb 0.5ug/nd
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POI0) Cd(*10) Cr*10) Cuf*i0) Mn(*10) Fe  Ni*10) AsiD) Be

< ZA4HE Ha >

T+ 1083t VERA




9 y 7O
7]‘/\El(mm)
k] P F7]L(0) AT (%) 2 2 (mjs) 2T
2 RS
=4 2.3 41.9 1.3 0.0 0.0
Sh=! 5.3 56.1 1.2 0.0 0.0

¥ 713 EE vE (BA, B D SA4, Ad FHEA, T, 3-8 M S4B

(e]
- 29129 OiHl : PV, Cd 5 117 842e] % 7 (19 ~ 85%)
Pb gZo) 5= Z7} (13%)

- 2d 542019, 1€) ¥l : PM10, Pb 5 127 3&=9] 5% 244 (13 ~ 81%)

T 52 PMHIO | Pb Cd Cr Cu Mn Fe Ni As Be Al Ca Mg
Lhy] -19 13 -20 -46 -85 -46 -33 -67 -21 - -38 -40 -28
i
2%
(299 Ad=doy] | -39 -13 -20 -47 -81 -50 -47 -52 -56 - -63 -69 -55
S A~
- 3 (Pb) : 0.0170pg/m 2 374 7]150.5pg/m) 2 3% =
(S¥zpg/ m')
2+ & | PM-10 Pb Cd Cr Cu Mn Fe Ni As Be Al Ca Mg
=< 22 0.0170 | 0.0004 | 0.0020 | 0.0048 | 0.0203 | 0.3100 | 0.0014 | 0.0011 | 0.0000 | 0.0684 | 0.2036 | 0.0755

2]
e

27 0.0151 | 0.0005 | 0.0037 | 0.0315 | 0.0373 | 0.4622 | 0.0043 | 0.0014 | 0.3366 | 0.1104 | 0.3366 | 0.1047

ofnr
i

36 0.0196 | 0.0005 | 0.0038 | 0.0257 | 0.0409 | 0.5843 | 0.0029 | 0.0025 | 0.0000 | 0.1825 | 0.6510 | 0.1695




- 24129 ] .

PM-10, Cr &

1073

=)

P FE9) H= 37}

(28 ~ 81%)
(11%)

- Ad F22019. 1) iy - PM-10, Cr 5 107} s+=9 % 7+4 (18 ~ 56%)
Pb &= 5 57} (9%)
T2 PMIO | Pb Cd Cr Cu Mn Fe Ni As Be Al Ca Mg
Lfy] -41 11 0 -69 -62 -69 -48 -81 -28 -3 -42 -39
a2
(=291%
AMAzdoy] | -31 9 0 -18 -56 -32 -23 21 -55 -46 -42 -33
- 2 (Pb) : 0.0199ug/m Z 273 7]=(0.5peg/m)S 4% =
(H$l:pg/ m)
2 | PM-10 Pb Cd Cr Cu Mn Fe Ni As Be Al Ca Mg
=4 22 0.0199 | 0.0005 | 0.0027 | 0.0161 | 0.0180 | 0.3743 | 0.0019 | 0.0013 | 0.0000 | 0.0800 | 0.2691 | 0.0815
A 37 0.0179 | 0.0005 | 0.0087 | 0.0420 | 0.0590 | 0.7192 | 0.0100 | 0.0018 | 0.0000 | 0.1297 | 0.4618 | 0.1332
ES 32 0.0183 | 0.0005 | 0.0033 | 0.0363 | 0.0267 | 0.4856 | 0.0025 | 0.0029 | 0.0000 | 0.1496 | 0.4608 | 0.1311
D ol1ax] sixo=

Cr, Cu, Mn, Ni, As 3=
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- J(Pb) & : o] =4} FAtEG 9HA YERd

- 739 0.0165pg/md - =AF: 0.0249ug/nd - F-4F 0 0.0196pg/
- AFe) % : 4ol 4k FAET BA Yehd

- A 0.5907ug/nd - 24F : 0.7636pg/m - F-4F ¢ 0.9026pg/

(F$:pg/ m)

2 Pb a Cr Cu | Mn | Fe N As Be A G | Mg
Zd | 00165 | 00006 | 0.0062 | 00367 | 0.0481 | 05907 | 0.0072 | 0.0016 | 0.0000 | 0.1201 | 0.39%2 | 0.1190
(m%; 1y | ¥ | 00249 | 00007 | 00085 | OCRI7 | OBI8 | 07636 | 0087 | 000K | 00000 | 02889 | 09234 | 01762
2k | 0019 | 00003 | 00103 | 00273 | 00591 | 09026 | 00089 | 00018 | 00000 | 0235 | 05512 | 0.16%
A | 00109 | 00006 | 0.0045 | 00149 | 0.0235 | 0.4243 | 0.0042 | 00017 | 0.0000 | 0.1419 | 0.3026 | 0.1340
(;511?512) 24k | 00102 | 00000 | 0.0000 | 0.0045 | 00127 | 03212 | 0.0003 | 0.0000 | 0.0000 | 0.1625 | 03131 | 0.0919
2 | 00165 | 00003 | 00044 | 00136 | 00821 | 07207 | 00081 | 00030 | 00000 | 02210 | 05609 | 01941
<Hdd F8d5 & ¥ >
(Slepe/ m)
0.060 14
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71 4.7 ~ 57C, 5= 515 ~ 62.4%
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